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o PV AT B T [ 5 FT-97 7 JRT 7T 16 79T §97 35(11+12+12) &

Please make sure that the printed pages in this question paper are 16 in number
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o Jo7-7H ¥ e & @ G RF T8 FS THY Tl 6 H OH F-Yikaw F FEI-g8 9T
gy

The Code No. and Set on the right side of the question paper should be written by
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o FYF J9T FH TV [iE@T J@ V7 G Yee, 9T H B AT [
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strike the written answer.

208/(Set : A) P.T.O.



(2) 208/(Set : A)
o TR ST AT To JeT-UH YT Haed [@ T To F SARFT FIT-YH YU o FE A T
frd e dafeys 7o & TR T Frdll ST T 9T T g

Candidates must write their Roll No. on the question paper. Except Roll No. do not
write anything on question paper and don't make any mark on answers of objective

type questions.

o YT J%7 % I 37 @ g4 T FAkEd # A & ge7-97 [ T @& 8, ThEr F ITT 59
G § Fig 4 @ w@hwre Tl A aam

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after

examination.

A 3T -
() T8 Fo7-97 T 9 T frentnT & -

T - & : STYE GEIY Tq e @l
G — § : B G TF [T [a &7 @99
9T - T : FYNHT AGIHT

(i) 9T - & Sfard & geref g+ ST @ YT - F T T - T F G #F TF 97 &7
e/

(iii) T 97 BT FXT 81 OB 9T B oI IqD GHT FNT TT &

(iv) gABedd 797 1 @ 6 % % @el [4wcd g7 der 797 12 @ 17 7% % v @& a7
g o=l a7 a7 9 e & @ RET i S 595 & FT 3% Sl B AT
difora

(v) Fo7 F&qr 11 797 23 H SR §¢ I7a= &/

208/(Set : A)



(3) 208/(Set : A)

General Instructions :

(i)  This question paper is divided into three Parts :

Part — A : Not-for-Profit Organizations & Partnership Accounts.
Part — B : Company Accounts & Analysis of Financial Statements.
Part - C : Computerized Accounting.

(i) Part — A is compulsory. Candidates have to attempt any one part from
Part - B and Part - C of their choice.

(iii) All questions are to be attempted. Marks of each question are indicated
against it.

(iv) Choose the correct options of the multiple choice type questions 1 to 6 and
answer of questions 12 to 17 may be given in one or two words or
sentences or by filling up the blanks. Answer the remaining questions
according to their marks.

(v) Internal choice is available in Question Nos. 11 and 23.

i - A
PART - A [M.M.:30
(TR HeETE U EEEt @)
(Not-for-Profit Organizations & Partnership Accounts)
1. %4 & G99 6 3 § g=iEl & fepd @ ora IR | ghned T R s
1

(A) TRRRE # TN B

(B) WERERI SN U T T H

(C) WEER i SR i

(D) @ AR &

208/(Set : A) P.T.O.



(4) 208/(Set : A)
On dissolution of a firm, out of the proceeds received from the sale of assets ............

will be paid first of all.

(A) Partners' Capital

(B) Partners' Loan to Firm

(C) Partner's Additional Capital

(D) Outside Creditors

2. BF & GHYY W 999 3 ¥ HH-91 Grar s9ET aney 7 1

(A) FGA e
(B) ®EER & TS @

(C) Hs @
(D) UERER & %O G

On firms dissolution which one of the following account should be prepared at

the last ?

(A) Realization Account

(B) Partners' Capital Account
(C) Cash Account

(D) Partner's Loan Account

208/(Set : A)



(5) 208/(Set : A)

3. UEER & JEHS TeoT HH W @A & TR fhees T @ & HieT & it ? 1

(A) SR TET HIA AN HEHER B

(B) Y TERERI &

(C) |l 9EER &

(D) SWead ¥ q HE

On retirement of a partner, goodwill will be credited to the Capital Account of :

(A) Retiring Partners

(B) Remaining Partners

(C) All Partners

(D) None of the above

4. 0, TIF4:2: 1% AU T AW dicd T TERR &1 AR S F FEH T FA
W T q QO AA AU 3 : 18l A A Wi ST @ g ? 1

(A) 3:13
B) 13:3
(C) 3:1
(D) 12:5

'A', 'B' and 'C' are partners sharing profits in the ratio of 4 : 2 : 1. If the new ratio
of ' B'& 'C'is 3: 1 on A's retirement, then what will be gaining ratio ?

(A) 3:13
(B) 13:3
C 3:1
(D) 12:5

208/(Set : A) P.T.0O.



(6) 208/(Set

5. 5l U gEeR & e § afufad fear o g ®

(A)
(B)

©)

fepdl T TMEER & FeHlT 9
HEERT % SgHA @l Fedia 9
Al QU AEER S el 9

(D) ST § T HE Tl

A new partner may be admitted into a partnership :

(A)
(B)
©)

(D)

with the consent of any one partner
with the consent of majority of partners
with the consent of all old partners

none of the above

6. 3 T WEER AU feRd &I @i H W Aks F A B, A 39 I A ST FAq

(A)
(B)
©)
(D)

i an &
T TR B O A
s @ &
W R 3 T A

: A)

When a new partner brings his share of goodwill in cash, the amount is debited

to:

(A)
(B)
©)
(D)

208/(Set

Goodwill Account
Capital Account of New Partner
Cash Account

Capital Account of Old Partners

:A)



(7) 208/(Set : A)
7. WEHEH GG @l STPURART § S BN drell HEErd A TEH bl el v e w1 Sw
i1 2

Mention any four provisions of the Partnership Act, in the absence of
Partnership Deed.

8. f=fafed gammell & gR W a¥ 2017-18 & G- i H HisT 8N dard I= &l T

HIfeT 4
3

() a9 I g G : 80,000

(i) 31-3-2017 F & T : 26,000

(ili) 31-3-2018 @ 3T&W Tl : 6,000

(iv) 31-3-2017 & ¥ o< I=1 @ 15,000

(v) 31-3-2018 & ABH oG a1 @ 10,000

From the following informations calculate the amount of subscriptions to be

credited to Income and Expenditure Account for the year 2017-18 :

N
(i) Subscription received during the year : 80,000
(i) Subscription outstanding on 31-3-2017 : 26,000
(iii) Subscription outstanding on 31-3-2018 : 6,000
(iv) Subscription received in advance on 31-3-2017 : 15,000
(v) Subscription received in advance on 31-3-2018 : 10,000

208/(Set : A) P.T.O.



(8) 208/(Set : A)

9. ‘0 3R ‘G UH HH & TEER &1 I ¥ [l U 5 @ 3 Bl 1-4-2021 & AT

B 1/8 AM & [T GRER ST T R I/ TR & % S/ @ & 75,000 T q 9 Tl

B 0 SR ‘R AT AW ST GRET & e qd AR & A TR TR & @ Ay

AR 32 FH AGAA A TeT B B [T TEAd U 31-3-2022 H TG a¥ F U
%1 F AW 4,00,000 X &Ml

31-3-2022 FH GHTT BF a1 99 B [0 A-ai [T @ G R &) 4

'P' and 'Q' were partners in a firm sharing profits in the ratio of 5 : 3. On 1-4-2021

they admitted 'R' as a new partner for 1/8th share in the profits with a guaranteed
profit of ¥ 75,000. The new ratio between 'P' and 'Q' will be same but they agreed
to bear any deficiency on account of guarantee to 'R' in the ratio 3 : 2. The profit
of the firm for the year ended 31-3-2022 was ¥ 4,00,000.

Prepare Profit and Loss Appropriation A/c for the year ended 31-3-2022.

10. 1-4-2020 H TF =G GH & TRmEr 2,00,000 2 o FEH 4,000 % @ Iws A af
39 o % 38& TER 10,000 X & &1 WEER & Eoff @@ F 1,60,000 X H A9 o1
AR AT E51 30,000 X & 91l AR G B WA & 15% B AR AR & 3 a9y
HA T T H ST B G 36,000 % &, A BH & G AN S Bl 4

On 1-4-2020, an existing firm bad assets of ¥ 2,00,000 including cash of ¥ 4,000.
It creditors amounted to ¥ 10,000 on that date. The partners capital accounts
showed a balance of ¥ 1,60,000 while the general reserve amounted to ¥ 30,000. If
the normal rate of return is 15% and the goodwill of the firm is valued at ¥ 36,000

at 3 years purchase of super profit, find the average profits of the firm.

208/(Set : A)



208/(Set : A)

(9)
11, T qur ‘S o @ B 2: 1 ¥ afed §, @ 31-3-2018 P Rafy fawer Ffataa ®
G P 3 Rt §

o STttt 15,000 | IT&R 40,000
e iy 12,000 | Y@4M €@l - 3,600 36,400
CREES 20,000 | €& 20,000
Tl AT 40,000 | fafesT 25,000
T B 30,000 | ¥a= 2,000
ENIERY 33,600
1,17,000 1,17,000

1-4-2018 & IBH G’ H AEER H AFHC fpan a1 A9 o a3 : 2 ¢ 1 8
Fopfifere EHRISTTST & a1e 6 ST oit A ©

(i ‘@’ 10,000 % Efq & o1 fRe & forg e # @ R
(i) W T SRSH H 2,000 T § T &
(i) TH QU TEIEX o T T 2,600 X 31 TE JWH H el f@r g 21 3@ 9.

g&ih | fore B
(iv) UHE P I H B

(v) SRl q 2% B¢ Pei @ GHE
g @, T @ oY IR foge & SRy

208/(Set : A)

10

P.T.0O.



(10)

208/(Set : A)

'A' and 'B' sharing profits and losses in 2 : 1. Their Balance Sheet as on 31-3-2018

is as under :

Liabilities 3 Assets 4

Bank Overdraft 15,000 | Debtors 40,000

Reserve Fund 12,000 | Less Provision - 3,600 36,400

Creditors 20,000 | Stock 20,000

Capitals : 'A’ 40,000 | Building 25,000

Capitals : 'B' 30,000 | Patents 2,000

Machinery 33,600

1,17,000 1,17,000

They admit 'C' into partnership on 1-4-2018. New profit sharing ratiois 3 : 2 : 1.

'C' brings in proportionate capital after the following adjustments :

(i) 'C'brings in ¥ 10,000 in cash as his share of Goodwill.
(ii) Provision for doubtful debts is to be reduced by ¥ 2,000.

(iii) There is an old typewriter valued ¥ 2,600. It does not appear in the books of

the firm. It is to be shown now.

(iv) Patents are valueless.

(v) 2% discount is to be received from creditors.

Prepare Revaluation A/c, Capital Accounts and Opening Balance Sheet.

208/(Set : A)

AYAT
OR



(11) 208/(Set : A)
Uk TEER & g & H I6% B & A & T F7A B At Rl & sam
|fed aui B

Explain with examples various methods of computing the share of profits in case

of death of a partner.
-9
PART - B [M. M. :30
(=t @a e o et @ e

(Company Accounts & Analysis of Financial Statements)

12. SRRA o ofR Joia Hed # g% o 1

Give one point of distinction between Reserves Capital and Capital Reserve.

13. FAaH AEH & F1 drd 2 1

What is meant by Minimum Subscription ?

14. T FUA q90 40 8 7 1

What is Zero Coupon Bond ?

15. 1 afd, 2021, & ‘T [@fRs’ 100 T 9 5,000; 8% RIS 5% el WX R fhu
31 #rE, 2022 Pl GG a9 & o0 Fol AT feberem B ? 1

On 1st April, 2021, 'A Ltd.' issued 5,000; 8% debentures of ¥ 100 each at a
discount of 5%. What will the total amount of interest for the year ending
31st March, 2022 ?

208/(Set : A) P.T.O.



16.

17.

18.

19.

20.

21.

(12) 208/(Set : A)
Th H & (el & G fqaeen & W e 1

Name any two financial statements of a company.

R ARl & & IETeeT Ay 1
Give two examples of non-current liabilities.
Sl g RO HE @ =) 2

Give any two points of distinction between a share and a debenture.

‘T fafee’ T T 25,000 ¥ & O @ B Agfic & GO @@ & [T 20,000 X B
o H R e S afaftedr i 2

'A Ltd." Company issued ¥ 20,000 debenture for a capital expenditure in
satisfaction of his claim of ¥ 25,000. Pass Journal Entries.

FRSA T 6,00,000 3; MR 3F 1,80,000 3 M T M 9a@l 20,000 I 2
Tl AT 1 T I 2

Working Capital ¥ 6,00,000, Trade Payables ¥ 1,80,000 and Other Current
Liabilities ¥ 20,000. Calculate Current Ratio.

FrfaRad fqexen 9 ag Tfaiedl § T6dl Jae @ IO S - 4

1-4-2020 31-3-2021

G99 ug "M (W.D.V.) 7,20,000 8,60,000
e -

() @Y & SR A T FEEH 85,000
(i) 1,10,000% % W.D.V. a@l @ie 1,25,000 % § =1 T4

208/(Set : A)



22.

23.

(13) 208/(Set : A)
Calculate Cash Flow from investing activities from the following particulars :
1-4-2020 31-3-2021
Plant & Machinery (W.D.V.) % 7,20,000 ¥ 8,60,000
Informations :
(i) Depreciation charged during the year ¥ 85,000.

(ii) Plant and machinery having Written Down Value (W.D.V.) of ¥ 1,10,000 was
sold for ¥ 1,25,000.

Fr=fafad gemell § Wb T SIur 5 i 4
§

(i) IR TBiaa : 28,000

(i) oAf~w TEfoar : 52,000

(iti) G RSt | ST : 6,00,000

(iv) H®d @H : o et @ aFa @ 25%

From the following calculate inventory turnover ratio :

N
(i) Opening Inventory : 28,000
(ii) Closing Inventory : 52,000
(ii) Revenue from Operations : 6,00,000
(iv) Gross Profit : 25% on cost of revenue from operations

‘T FE A 10 T 9 1,00,000 Y T BT S TH FBR 3F & 3 T I@ET W, 2.50 T
e T, 2.50 T YUY IraMl GX &I 2 ¥ a9 I W S 7 1,52,000 St & faw
e A9 1,50,000 S & SAEEhH B TG SAEN G AW {HA TN Th HAE
foTge T 200 A & AT R BN RN el BT RN FT A H1 AT HT foran T
A TG YW AT B T STURIT Y MY el H 9 T URY Sy W 8 T FHal AN §Y
ga: fee & Ran mm st A T8 TR R B S wfaftedt St 10

208/(Set : A) P.T.O.



(14) 208/(Set : A)
'A" Company offered 1,00,000 shares of ¥ 10 each payable as : ¥ 3 on application,
% 2.50 on allotment, ¥ 2.50 on Ist call and X 2 on the final call. The public applied
for 1,52,000 shares. The shares were allotted on a prorata basis to the applicants
of 1,50,000 shares. All shareholders paid the allotment money except one holder
holding 200 shares. These shares were forfeited. The first call was made
thereafter. The forfeited shares were reissued @ ¥ 9 per share ¥ 8 paid up. The
final call was not yet made. Pass Journal Entries.

HAYAT

OR
S & &1 B o o § ? e Y W oief & & ofX i @ Aot wfaftest
PISTT| I Fied FHAZT

What do you mean by Forfeiture of Shares ? What journal entries are passed for
forfeiture and reissue of forfeited shares ? Explain with an example.

AT -9
PART - C [M. M. :30

(Frgele i)

(Computerized Accounting)

12. DBMS & Q9 &9 #2718 ? 1

What is the full form of DBMS ?

13. STEY SifsiFed B TH JARE S S & §I8 HT o 1

Name of database object to hold data.

208/(Set : A)



(15) 208/(Set : A)
14. 39cH & o9 G99 § ST fhU I A T & @B ... el Sl Bl 1

The common fields used in a relationship between tables are called ............ .

15. FO S RO .oovvvennn.. R % F Yeiid fhar o g B 1

The result of Query can be displayed by clicking on ........... .

16. TGiHT Yol [5H YHR H GFedaT 2 7 1

What type of software is an Accounting Package ?

17, eeeieennn.. Hiedmeher ®l STaeTwdr 2 1

The need of codification is .............. .

18. HYgd qQHT 1§ ¢ 2

What is Computerized Accounting ?

19. STl & URAING HIfT TR 39% YHN Id13U) 2

Define Data and name its types.

20. FYTAH oGl T BRI AR gd @ Rure &1 & 7 2

What are the basic accounting reports prepared by Computerized Accounting

System ?

208/(Set : A) P.T.O.



(16) 208/(Set : A)
21. TEEY Y&g9 JOMel (DBMS) & el &7 Sl &1 av it 4

Describe any four objectives of DBMS.

22, FYIUEH a@iwT Tl & gl S8 R S 8 ? 4

How to prepare Balance Sheet in Computerized Accounting System ?

23. BT § Ffcd, HA g G0 B S g B H TRRT & a0 i) 10
Explain the process of inserting and deleting a column, rows and cells in
Spreadsheet.

HYqT
OR

Sedfic F1 7 ? 36D FET H AU BT

What is Spreadsheet ? Describe its functions.

208/(Set : A)
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o PV AT B T [ 5 FT-97 7 JRT 7T 16 79T §97 35(11+12+12) &

Please make sure that the printed pages in this question paper are 16 in number
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o Jo7-7H ¥ e & @ I RF T8 FS TEY For 6 H OH FI-Yikaw F FEI-g8 97
gy

The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.

o FYI FIT P TV [VGTT @ FXT G YEw, F97 F HHH ST [orad

Before beginning to answer a question, its Serial Number must be written.
o FUT-YitTHE & = H @l §,/9 7 881

Don’t leave blank page/pages in your answer-book.

o FT-YRTHE B SIRFT HF o de Tel A o SEvIRagEr & g st frar Fav T
FIC]

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.

208/(Set : B) P.T.O.



(2) 208/(Set : B)
o TUETER Ul AT To JT-UH T Haed [i@ W To F SHARFT FIT-YH G I FE A T
frd sit dmfoqs g9t @GRl 9¥ el Jre @7 9T T g

Candidates must write their Roll No. on the question paper. Except Roll No. do not
write anything on question paper and don't make any mark on answers of objective

type questions.

o YT J97 % IV 37 @ g4 FE GAkEd # A & Je7-97 [ T @& 8, T8 # ITT 59
G § g 4 @y w@hwre T A @

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after

examination.

A 3T -
() T8 Fo7-97 T 9 T T & -

G - O : STTTET GEIT TF G @iy
G — § : FRH @7 0F [T [a &7 [@saT
9T - - FGRHT AGHT]

(i) 9T - & Sfard & geref g+ 5T @ YT - F T T - T F G #F TF 97 &7
e/

(iii) TH F97 &F BT &1 FOF F9T B F 3T @I WNT T 8

(iv) Tglawedid 797 1 @ 6 % % @&l [4wcy giag der 797 12 @ 17 7% % F¢ @& 47
g o=l a7 Il 9 Re & @ ReET i A9 595 & GT G9% Sl B AT
difora

(v) 797 G&r 11 77 23 7 oiE ge ITTe &1

208/(Set : B)



(3) 208/(Set : B)

General Instructions :

(i)  This question paper is divided into three Parts :

Part — A : Not-for-Profit Organizations & Partnership Accounts.
Part - B : Company Accounts & Analysis of Financial Statements.
Part - C : Computerized Accounting.

(i) Part — A is compulsory. Candidates have to attempt any one part from
Part - B and Part - C of their choice.

(iii) All questions are to be attempted. Marks of each question are indicated
against it.

(iv) Choose the correct options of the multiple choice type questions 1 to 6 and
answer of questions 12 to 17 may be given in one or two words or
sentences or by filling up the blanks. Answer the remaining questions
according to their marks.

(v) Internal choice is available in Question Nos. 11 and 23.

| -
PART - A [M.M.:30
(ST HE T WEEr @)
(Not-for-Profit Organizations & Partnership Accounts)
1. ‘@9 S ST & STe/™ B : 1

(A)  JUET STFUIA — 41 7T

(B) AT STIU — YU ST

(C) JUAE SHFHIA — T SNl

(D) =3 SHHId — & SgHId

208/(Set :

B) P.T.O.



(4) 208/(Set : B)

Gaining Ratio means :

(A) Old Ratio — New Ratio

(B) New Ratio — Old Ratio

(C) Old Ratio — Sacrificing Ratio

(D) New Ratio — Sacrificing Ratio

2. T, d g A TEERIMNS:2: 1AW died 81 IR T & GBI Teo | 41 ST
3:2 &, O oY 9k FIU BT 1

(A) 11:14

(B) 3:2

C) 2:3
(D) 14:11

'A', 'B' and 'C' are partners sharing profits in 5 : 2 : 1. If the new ratio on the

retirement of 'A' is 3 : 2, what will be the gaining ratio ?
(A) 11:14

B) 3:2

) 2:3

(D) 14:11

208/(Set : B)



(5) 208/(Set : B)

3. T &l &M H 5T HE AHER Blg T A 8, Al v Sfae Ream ST & 1
(A) Tl T H
(B) WBRR & ot @1 &l
(C) kg @ H
(D) TH @
On dissolution, when a partner takes over an asset .......... is debited.

(A) Realization Account
(B) Partner's Capital Account
(C) Cash Account

(D) Asset Account

4. THQT P I3 H, FEHER B FOT SKNART (61 A & 1
(A) TERRI & o @ A
(B) age @d |
(C) TTHedis @ |

(D) ®EER % R @ H

On dissolution, partner's loan is transferred to :
(A) Partners' Capital Account

(B) Realization Account

(C) Revaluation Account

(D) Partner's Loan Account

208/(Set : B) P.T.O.



(6) 208/(Set : B)
5. A Y UERER & YA & 99 B offarad e &, of 39 ¢ 1

(A) TR @ # Sfee B s
(B) TTHwdiH @ | shise fpar s
(C) @i @ § Sfee fhar smom

(D) ®EER & TG @ # e fn s

If at the time of admission of new partner there is some unrecorded liability, it
will be :

(A) Debited to Revaluation Account
(B) Credited to Revaluation Account
(C) Debited to Goodwill Account

(D) Credited to Partners' Capital Account

6. JTHcAih AT AGdl AH-IW GAEeH @l & 1

(A) s @il
(B) RN @
(C) AMmAEE @it
(D) &9 @
Revaluation Account or Profit and Loss Adjustment Account is a :
(A) Real Account
(B) Personal Account
(C) Nominal Account
(D) Asset Account

208/(Set : B)



(7) 208/(Set : B)
7. W G wE o T E § o i 2

Distinguish between 'Fixed Capital' and 'Fluctuating Capital' Accounts.

8. Fr=fiiad gaamell &l &9 & 31-3-2022 & ¢S § oY g YR axidy ? 4
3
i) ©d PY 1-4-2021 & ' 5,00,000
(ii) 1-4-2021 & 10% @ SN [{AFET : 5,00,000
(il) O PV AFER ) O o : 37,500
(iv) O ®Y % [T a9 : 1,20,000
(v) @« ™ : 1,00,000
(vi) ©d IR ) &9 : 15,000

Show how will you deal with the following items while preparing the Balance
Sheet of a club as at 31-3-2022 ?

3
(i) Sports Fund on 1-4-2021 : 5,00,000
(ii)) 10% Sports Fund Investment on 1-4-2021 : 5,00,000
(iii) Interest received on Sports Fund Investment : 37,500
(iv) Donation for Sports Fund : 1,20,000
(v) Sports Prizes awarded : 1,00,000
(vi) Expenses on sports events : 15,000

208/(Set : B) P.T.O.



(8) 208/(Set : B)

9. WERR ‘T, ‘TH &R ‘T’ 31-3-2022 & TG & A A a9 PN Yol W AN AT
Y@ MU ITH W G A at # ‘e@ 40,000 Z, “TH-25,000 %, ‘TT-15,000 X i i

W & H W 12% a1 3T @I died & I 2020 - 5:2:1,2021 -3:2: 1,
2022 -2:1:1 8 AEES quEEH gfaie g 4

'L', 'M' and 'N' partners have omitted interest on capitals for three years ended
on 31-3-2022. Their fixed capitals in three years were 'L' ¥ 40,000, 'M' ¥ 25,000,
'N'  15,000. Rate of interest on capital is 12% p.a. Their profit sharing ratios
were 2020 - 5:2:1,2021 -3 :2:1,2022 -2 :1: 1. Give the necessary

Adjusting Entry.

10. ‘T AR ‘&P THH HEER g 9r & gEerd § ot R mm Al $a9 50,000 T R
AT B, 919 90,000 % &g & B @ § 9, 1/4 97 & fw 3,00,000 % & @fd B0 4@
& g d REE T 8 v A JEE J oTasds S Sfatedl &Y 4

'A' and 'B' are partners sharing profits equally. They admit 'C' into partnership. 'C'
paying only ¥ 50,000 for premium out of his share of goodwill of ¥ 90,000 for
1/4th share of profit. Goodwill Account appears in the books at ¥ 3,00,000. Give

the necessary Journal Entries.

208/(Set : B)
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11. T, & iR & "EER § S AWM & 5 : 3 : 2 & U # dled 81 1-4-2020
SRCIRCECINE I RICRICI I

GIRGH 2 SRR 2

SEEIES 10,000 | g 2,000
HHAR Ao e 5,000 | &R 8,000
e 6,000 | &l 40,000
HHAR afagfd M S 2,000 | BHrER 13,000
Tt A 50,000 qded 4,000
TSt : B’ 35,000 fafesT (wem) 60,000
Tt :'C' 25,000 1,10,000 | @Al 6,000

1,33,000 1,33,000

G FIEA TET HA & AR TR F TeAl g5 [

A H JAie T a) qu & SA6d A & ER W & a9 & %I o0 b S o6
SR 31 A1 % §HI a9 & @ 36 $6R ¥ : 2017 : 14,400 ¥; 2018 : 20,000 3;
2019 : 10,000 % (&1F); 2020 : 15,600 3|

Hiy FOT & [T STRISH STaR T 5% & &l
T 10% SEHT @ ST

(@)

(i)
(i)
(iv)

V)

(vi)

Yo 7o ed B

T B qed 20%  Tgh{ R SE

AVERI B Ik g | 2,000 % 3Af¥EH P B IS

g @, Oo @ e T8 ®H H [T R

208/(Set :

B)
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'A', 'B' and 'C' were partners sharing Profit & Losses in the ratio of 5 : 3 : 2. Their

Balance Sheet as at 1-4-2020 was as under :

Liabilities 4 Assets 3
Creditors 10,000 | Cash 2,000
Employees Provident Fund 5,000 | Debtors 8,000
Reserve Fund 6,000 | Stock 40,000
Workmen's Compensation Fund 2,000 | Furniture 13,000
Capitals 'A' 50,000 Patents 4,000
Capitals 'B' 35,000 Buildings 60,000
Capitals 'C' 25,000 1,10,000 | Goodwill 6,000
1,33,000 1,33,000

'C' retires and partners agreed that :

(i) Goodwill is to be valued at two years purchase of the average profits of last

four years. Profits for the years ending 31st March were : 2017 : ¥ 14,400;

2018 : ¥ 20,000; 2019 : X 10,000 (Loss); 2020 : X 15,600.

(ii) 5% provision for doubtful debts to be made on debtors.

iii) Stock be appreciated by 10%.
(iii) pp y

(iv) Patents are valueless.

(v) Buildings be appreciated by 20%.

(vi) Creditors to be paid ¥ 2,000 more than the book value.

Prepare Revaluation Account, Capital Accounts and the Balance Sheet of the

new firm.

208/(Set : B)
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13.

14.

15.

(11) 208/(Set : B)

OR

@ & IR I 366 qodie & AEW@HN F ¢ ! AQ WEER & YA & 69
SO 8 TR e far S § 7

What is Goodwill ? What is the need of its valuation ? What is its accounting

treatment at the time of admission of a new partner ?

qFT - §
PART - B [ M. M. : 30
(Tt @ e o fasen @ fasqo)
(Company Accounts & Analysis of Financial Statements)
SNf-ANEH T “‘ST-3IEH’ | PIE g7 oTHE ot 1

Distinguish between 'Over-subscription' and 'Under-subscription'. (Any one)

B HAANEH, 2013 & FATGE! 1 AR F & AGAR, APH oMl | e & § = e
ST Hhal & ° 1

At what rate interest on calls-in-advance may be paid by a company according

to Table F of Schedule I of the Companies Act, 2013 ?

Her® SHid & ®9 § OGN & AT & g @ gfafte a9 ST el © ? 1

What entry may be passed when debentures are issued as Collateral Security ?

AT & FA Bl 8 7 ’

What is Coupon Rate ?

208/(Set : B) P.T.O.
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17.

18.

19.

20.

(12) 208/(Set : B)
T HA @ Ref ReaRer & e o F s sl @ der e o 1

What is the number of major heads of the Assets side of a Company's Balance
Sheet ?

forir faseloer & #iE g G qaEy 1
Give one limitation of Financial Analysis.
Sttt ol ‘ForEaRal # #E & eFaR S 2

Give any two points of distinction between 'shareholders' and 'debenture
holders'.

frrfafad w8t @ e % Rl fJexor & 67 et & srriq foran oam & 2 2
(i) &
(i) B MR

Under what headings will you show the following items in the Balance Sheet of

the Company ?
(i) Goodwill

(i) Loose tools

frricTiee garmetl | ol fGeXe SRy 2

31-3-2022 31-3-2021
HeeE § Y % 30,00,000 % 20,00,000
T A (e & T B % ) 15% 20%
o (da § o H %) 60% 50%

208/(Set : B)
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Prepare a comparative statement of Profit & Loss from the following details :

31-3-2022 31-3-2021
Revenue from operations % 30,00,000 % 20,00,000
Other Income (% of Revenue
from Operations) 15% 20%
Expenses (% of Revenue
from Operations) 60% 50%

21. YRR @A 60,000 I; sAfwE @@ 1,00,000 3; €fh e U 8 I, Gha 4o
25% TR § AR ebel e AU S i 4

Opening Inventory ¥ 60,000; Closing Inventory ¥ 1,00,000; Inventory Turnover

Ratio 8 times; Selling Price 25% above cost. Calculate Gross Profit Ratio.

22. fr=faiad fqaen @ Fasr dfafaferl |§ Tt dare & o 4
ferereT 31-3-2021 31-3-2022
R-grq 8,00,000 % 10,00,000 %
TRl Tt 15,00,000 % 18,20,000 %

() ¥ & 9RN & =g RFET & o fGR 15% @ W S= T
(i) T TORE W ¥ & 1,60,000 BE TFET T

(i) IR-ARY FRFEN W) 50,000 % A T g3

(iv) IR FRFEM ) 20,000 % AT A g3

(v) e/ e g3 25,000 R

208/(Set : B) P.T.O.
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From the informations given, calculate Cash Flow from Investing Activities of 'A' Ltd :

Particulars 31-3-2021 31-3-2022
Non-current investment % 8,00,000 $10,00,000
Fixed Assets % 15,00,000 $18,20,000

(i) Half of non-current investment held in the beginning of the years was sold
at 15% profit.

(i) Depreciation on Fixed Assets was ¥ 1,60,000 for the year.
(iii) Interest received on non-current investments I 50,000.
(iv) Dividend received on non-current investment ¥ 20,000.

(v) Rent received ¥ 25,000.

frriciee qX gt |ie fofe
Write short notes on the following :
(2) oM@ Toff o Toif & 5
Reserve Capital and Capital Reserve
(b) SFU-AREN TG Hfd-AREN 5
Under-subscription and Over-subscription
AYAT
OR

1-4-2021 & TF Y B 60,000 T F 5% FOTYS Ted &1 39 QT B FO9 NEF B
50,000 % & 2, o f ARG TR 3 59,000 T & 3% F9T ¥ [AMAINIT 21 FO9S e
Y § qffe fFe 8,230 3 & SIS SR B1 31-3-2022 & % T (AN W B B
@) 15,640 % 31 39 ffy @ @ @1 83% W =1 TN AR FOGEN & M HT A
Lol

2021-22 3 & G JIR BT 10

208/(Set : B)
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A company has ¥ 60,000, 5% debentures outstanding on 1-4-2021. On that date
the Debenture Redemption Fund stood at ¥ 50,000 represented by ¥ 59,000, 3%
Loan of the Government of India. The annual instalment added to Debenture
Redemption Fund is ¥ 8,230. On 31-3-2022 the balance at bank (after interest
on investment) was ¥ 15,640. On that date investment were sold at 83% net and
debentures were paid off.

Prepare Ledger Accounts for the year 2021-22.

T -9
PART - C [ M. M. :30

(FgeleT dui)

(Computerized Accounting)

12, o & T F 3 fu Sediic ¥ Rl H SN fFar A g 1

In a Spreadsheet, letters are used to represent .............. .

13. e, Yot 3@ H el &Y o 1
............... help us to see patterns.

14. FHGH BT I § T a4 & [T ..o SEART fo6aT ST B 1
In a computer spreadsheet, tool used to construct formulas is called ............... .

15. YR & SIAH & HY HM & F B [T ..o EECIERII] 1
Base gives us ............... options to start working with database.

16. .o THUE-UHE & T 9¢F o 1

208/(Set : B) P.T.O.



17.

18.

19.

20.

21.

22.

23.

(16) 208/(Set :

The fundamental building blocks of a database are.................. .

FHYSP qGihT Tl & & A s

Give two advantages of a Computerized Accounting System.

FHYPA b GO & & TN Bl AT i

State two types of Computerized Accounting System.

BRI Eieh d HGSUDe qEihT § HlE & AN WL FHiio|

2

Give two differences between Manual Accounting and Computerized Accounting.

TRt & B ? 30 S9N & alehl &l U ST

What is Table ? Discuss the methods to prepare table.

FYUFA Eih TSI Wl Hd JAR B e &

How to prepare Profit and Loss Account in Computerized Accounting ?

Gediic F1 & ? Tedic 9 e 39 e & ?

What is Spreadsheet ? How is Grid different from Spreadsheet ?
HYql
OR

ool &7 fafy & o7 cq-uww & qeam w0 & R 9wt @ o #ivm

4

10

Describe various steps in the design view method to create a Query to MS-Access.

208/(Set : B)
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o PV AT B T [ 5 FT-97 7 JRT 7T 16 79T §97 35(11+12+12) &

Please make sure that the printed pages in this question paper are 16 in number
and it contains 35(11+12+12) questions.

o Jo7-7H ¥ e & @ G RF T8 FS THY Tl 6 H OH F-Yikaw F FEI-g8 9T
gy

The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.

o FYF J9T FH TV [iE@T J@ V7 G Yee, 9T H B AT [
Before beginning to answer a question, its Serial Number must be written.
o Fuv-gikaw & & @] g~,/9+ T 881

Don’t leave blank page/pages in your answer-book.

o FTT-GRam & RFT FF T e TE Bl g sravaEdgar & @ G fiar Faw T
#I2]

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.
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o TUETER U AT To FT-UH qT Haed [i@ W To F SHARFT FIT-YH G T FE A T
frd sit dmfoas g9t @GRl 9¥ el Fre @7 9T T g

Candidates must write their Roll No. on the question paper. Except Roll No. do not
write anything on question paper and don't make any mark on answers of objective

type questions.

o YT J97 % I 37 @ g4 TE FAkEd # @ & Je7-97 [ T @& 8, ThEr F ITT 59
T § g 4 @ w@hwre T A @

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after

examination.
G (7397 -
() T8 Fo7-97 T 9 T T & -

T — O : STATHHR] GEIY T TET Gl
G - § : FFH @7 §F AT QI #T Ay

9T - T : FYNHT AGIHT

(i) T - o Sffard &1 gEwelf o7y s F T - § T G- T F G FE T T ET
&Y/

(iii) T GIT &T BT 81 HOF FIT B F FGH QT FNT TT &

(iv)] gaBedT 797 1 @ 6 % % Tel [4wcy g7 aer 797 12 @ 17 7% % v @& a7
g =] I a7 9 R & B RET i S 59 & FT 3% HHl B AR
difora

(v) 797 G&4T 11 T 23 # of<ifie g 3y &/

208/(Set : C)
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General Instructions :

(i)  This question paper is divided into three Parts :

Part - A : Not-for-Profit Organizations & Partnership Accounts.
Part - B : Company Accounts & Analysis of Financial Statements.
Part - C : Computerized Accounting.

(i) Part — A is compulsory. Candidates have to attempt any one part from
Part - B and Part - C of their choice.

(iii) All questions are to be attempted. Marks of each question are indicated
against it.

(iv) Choose the correct options of the multiple choice type questions 1 to 6 and
answer of questions 12 to 17 may be given in one or two words or
sentences or by filling up the blanks. Answer the remaining questions
according to their marks.

(v) Internal choice is available in Question Nos. 11 and 23.

| -
PART - A [ M. M. :30
(TR HeETE Ud WSt @)
(Not-for-Profit Organizations & Partnership Accounts)
1. TEER GH & GO e asm | A o § 7 1

(A) UERER H J&9 8 W

(B) fpell AEER & AN J&T HIA I

(C) WmEET &l SEfy F9e B I

(D) WER § & 8F |

208/(Set : C) P.T.O.
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In which condition a partnership firm is deemed to be dissolved ?
(A) On a partner's admission
(B) On retirement of partner
(C) On expiry of partnership

(D) On loss in partnership

2. O W N @ & SAaH A6 H SKIARG [HAr S g

(A) g @ A
(B) U%g @I H
(C) wm-giv & d

(D) UERER & FT @l §

On dissolution, the final balance of capital accounts are transferred to :
(A) Realization Account
(B) Cash Account
(C) Profit & Loss Account
(D) Loan Account of Partners
3. FRdl WRER @ T AR W e 29 g0 R e @ A Aee & oA ?
(A) af wEER & G @t |
(B) % @@ B O @ &
(C) I ITUETHN ® @I |
(D) ®&R & 39 T §

208/(Set : C)
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On the death of a partner, the amount due to him will be credited to :
(A) All partners' Capital Account
(B) Remaining partners' Capital Account
(C) His Executor's Account
(D) Government's Revenue Account
4. T, G FA G WHRR E SN 1/2 : 1/4 : 1/4 F TUT F A ded 2 A D ST
TEU] QX 41 ST BN 1
A 2:4
B) 1:

N

©)

(D)

N|[—

2
1
4

'A', 'B' and 'C' are partners sharing profits in the ratio of 1/2 : 1/4 : 1/4. New
ratio on the retirement of 'B' will be :
A) 2:4
B) 1:2
c 2:1
1 1

B3
5. T% U TEER & J49 W AETH ¢ 1

(A) el 9 Th EER i GEHld

(B) WEERI & SgAT i FEdid

(C) @ YU FIHERT &l TEHI

(D) JXH WEER & 2/3 FEER & euld

208/(Set : C) P.T.O.
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Admission of a new partner requires :
(A) The consent of any one partner

(B) The consent of majority of partners
(C) The consent of all old partners

(D) The consent of 2/3rd of old partners

6. 9 U% 91 GEER U 66 &I Tfq T% €9 7§ T8 A 5, af 99 R H e B4 ¢ A
(A) TFS @ A
(B) 9 WERER & =@ @ |
(C) Hiftmw @
(D) T EER & §h @ &

When a new partner does not bring his share of goodwill in cash, the amount is

debited to :

(A) Cash Account

(B) Current Account of New Partner
(C) Premium Account

(D) Capital Accounts of old Partners

7. TEER H AR O RE FBd & 7 A @4 & ST UF H @ " Ay 2

What is Partner's Current Account ? Write two items of Debit side of Current

Accounts.

208/(Set : C)
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Pass necessary adjustment entry.

208/(Set : C)
8. ‘T, dq J W AWM A 2 : 1 : 2 FH MIUC A Fled gL AERER &1 ITh w@rl giow
FU: 1,80,000 % ; 60,000 ¥ T 1,20,000 ¥ il 31-3-2021 & Tt W &S 10%
i & STUET 9% Uiay &l X § T TN AT TR gfafte I

'A', 'B' and 'C' are partners sharing profit & loss in the ratio of 2 : 1 : 2. Their
fixed capitals were ¥ 1,80,000 ; ¥ 60,000 and ¥ 1,20,000. Interest on capital for
the year ended on 31-3-2021 was credited to them @ 9% p.a. instead of 10% p.a.

9. fFrfafad germell & Th O &9 & fges ¥ o9 fhe TR T ?

3
(i) iR == : 30,000
(i) sl B : 2,00,000
(iti) Sfefer @i fafEm : 2,00,000
(iv) O & O s9H & M g ¢ 3,00,000
(v) G SUgd : 50,000

4

How will you show the following informations in the Balance Sheet of a Sports

Club ?

(i) Tournament Expenses

(ii)) Tournament Fund
(ii) Tournament Fund Investments
(iv) Donation for the Swimming Pool Construction

(v) Government Bonds

208/(Set : C)

%
30,000
2,00,000

2,00,000
3,00,000

50,000
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10. 1-4-2021 & T% a9 BH & gRmEr 5,00,000 X of fSEd 20,000 X &t ks i
f B & FHFE 9 90,000 % &, WEERI & Yol @R & AY 3,80,000 I AR TR
30,000 % & ¥ AR TAE H THAE W 20% B AR AR q9G I | B H ST B T
64,0002 &, A TH & 3AEd AN W< Hi) 4

On 1-4-2021, an existing firm had assets of ¥ 5,00,000 including cash of ¥ 20,000.
The firm had a General Reserve of ¥ 90,000, partner's capital accounts showed a
balance of ¥ 3,80,000 and creditors amounted to ¥ 30,000. If the normal rate of
return is 20% and the goodwill is valued at ¥ 64,000 at 4 years purchase of

Super Profit, then find the average profits of the firm.

11. ‘TR T ‘9%’ WEER § S 6 @ @ 5 : 3 & oUW # dled i Sel R faawer

TR R
TR z it z
AR 28,000 | 9% ¥ % 15,800
HHAR afayfd = 12,000 | &R 40,000
‘SIE’ M KT G 30,000 | @E g™ — 1,800 38,200
G 50,000 | ®f& 56,000
i Y 40,000 | faf=mT 10,000
2N | 10,000
RE 30,000
1,60,000 1,60,000
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‘Fe’ T 9t WX GEerd § JaY H ©

() ‘TR, ‘9R’ qEAN NS H AU AN STIUG 4 : 3 : 2 BN

(i) ‘ST’ B FOT B I Yol AT ST

(i) ®H @ ST B FedlwT 27,000 X FRaAr

(iv) ‘TR AR ‘AR’ T 8,000 F RAFEN o A-ET SFUE F o fom

(v) TERE & §& 10% | HH B Rl S|

(vi) WS FOU H UEEN TR W 5% T IR W 2% FHeri P qad Ff fFar s
(vii) HHER] &g deg @ e 15,000 % MR R @

(viii) ‘TR’ 6,000 T FHE B A

g W, FEER & Yo @ aun fager SR 10

'X' and 'Y' are in partnership, sharing profits in the ratio of 5 : 3. Their Balance
Sheet is as follows :

Liabilities 3 Assets 3
Creditors 28,000 | Cash at Bank 15,800
Workmen's Compensation Reserve 12,000 | Debtors 40,000
Z's Loan A/c 30,000 | Less Provision
Capitals : 'X' 50,000 - 1,800 38,200
Capitals : 'Y’ 40,000 | Stock 56,000
Investment 10,000
Goodwill 10,000
Plant 30,000
1,60,000 1,60,000

208/(Set : C) P.T.O.
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'Z' is admitted into partnership on the following terms :
(i) The new ratio will be 4 : 3 : 2 between 'X', 'Y' and 'Z'.
(ii)) Z's loan should be treated as his Capital.

(iii) Goodwill of the firm is valued at ¥ 27,000.

(iv) T 8,000 of investments were to be taken over by X' and 'Y' in their profit

sharing ratio.
(v) Stock is to be reduced by 10%.

(vi) Provision on debtors should be 5% for doubtful debts and 2% for discount

on debtors should be made.

(vii) The liability for workmen compensation was determined to be ¥ 15,000.

(viii) 'X' is to withdraw ¥ 6,000 in cash.

Prepare Revaluation Account, Partners' Capital Accounts and Balance Sheet.

HAYAT
OR

% q B GEER & TEHs TeUl 1 W EHRE U ail H Hedih # o @ ?
PN ol %l HEFdl § Ueh IEE1 & QY Ygedih @il a3

Why are assets and liabilities revalued at the time of retirement of a partner ?
Prepare Revaluation Account with the help of an example by taking imaginary

figures.

208/(Set : C)
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13.

14.

15.

16.

17.

(11) 208/(Set : C)

-9
PART - B [M.M.:30
(Tt @ e o fasen @ fasq)
(Company Accounts & Analysis of Financial Statements)

‘e oI den Fifed O g o iR 1
Give one point of distinction between Authorized Capital and Issued Capital.
‘g Fo § 77 AWE & 7 1
What is meant by 'Redeemable Debenture' ?
RO & M & o B & & wee & W i 1

Name two sources of finance for redemption of debentures.

ferig el & s er & &g & o SRy 1
List any two uses of analyzing of financial statements.
R fasciser & & Sushell & T SamRgl 1

Name two tools for Financial Analysis.

T ST T 8 ? 1

What is Liquid Ratio ?

208/(Set : C) P.T.O.
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19.

20.

21.

22.

(12) 208/(Set : C)
TH FH AR FURE 2,00,000 R i 36E AE 3EH 40,000 X & = AGE B OGWH
FX X 36 A & 98 S 9 OTUd 2 ¢ 1 O AN & 96 ag e o HEi|
ot S i 2

A firm had current assets of ¥ 2,00,000. It then paid a current liability of ¥ 40,000.
After this payment the current ratio was 2 : 1. Determine the size of current

liabilities and working capital after the payment.

FOE & WftEm W i o Qe WX diftmw’ § @t orar foiRaw 2
Mention two differences between 'Premium on issue of debentures' and

'Premium on redemption of debentures'.

X fafee’ 7 10 % A 300 Sfslt F IR fpa, B W 7 % O ofgr WM M oiR mem
I % 2 % U el gUI SAUBXT &l RS i) 2

'X Ltd' forfeited 300 shares of ¥ 10 each, ¥ 7 called up, for non-payment of 1st call

of ¥ 2 per share. Pass entry for forfeiture of share.

‘e getad BRell ¥ Ve Yae’ & fhel v &l & auie Sl 4

Explain any four items of 'cash flow from operating activities'.

wfeh e AU T B 4
(i) G FRamel | o : 2,00,000 %

(i) T A : 25% AT T

(i) mwﬁm,a%ﬁwﬁmw%ﬂw%

(iv) i< Efn, dersd Bharell § M @ 30% B

208/(Set : C)
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Calculate Inventory Turnover Ratio :
(i) Revenue from operations : ¥ 2,00,000

(ii) Gross profit 25% on cost.
(iii) Opening inventory was %rd of Closing Inventory.

(iv) Closing Inventory was 30% of revenue from operations.

23. 30 T4, 2021 & ‘U A’ A gE § 99 9

4
(i) 12% Fo9A 7,00,000
(ii) O MEH BN 5,60,000
(i) RO e HIY fafFEE (sfRT 991 6,16,000 %) 5,60,000
(iv) Sl S e 9,000
(v) % A9 2,80,000
ST [t 1 daTeehl | FOTE B M 2% SiHEH WX FH AT a9 39 [T [AER @
95% W 39 33N AEEE T AN B 10
On 30 June, 2021, the books of 'A Ltd.' showed the following balances :

4

(i) 12% debenture 7,00,000
(i) Debenture Redemption Fund 5,60,000

208/(Set : C) P.T.O.
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(ii) Debenture Redemption Fund Investment
(Face Value X 6,16,000) 5,60,000

(iv) Securities Premium Reserve 9,000
(v) Bank Balance 2,80,000

On the above date directors redeemed the debentures at 2% premium and for
this purpose investments were sold at 95%. Prepare necessary ledger accounts.

3TeE
OR

At & T T A W) R @ o e § ? 39 ddg # e qan gfaftedt
Hl S ¥ ?

What do you understand by issuing of shares at par and at premium ? What
accounting entries are made in this connection ?

{1 -9

PART - C [M. M. : 30

(FrgeleT dei)

(Computerized Accounting)

12. TF FHAOIK HE & [0 T dpiedss 19 47 & 7 1

What is an alternative name for a weak entity ?

208/(Set : C)
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14.

15.

16.

17.

18.

19.

20.

(15) 208/(Set : C)
ST & FAU FT B AECAI, AT G U Bl ARG B, Ta AR B Bl EHAT DI
UG A § 7 ’

............... offers the ability to query the data and insert, alter and delete tuples.
DBMS & 1 3¢ § ? 1
What is DBMS ?

Uedl DBMS a9 s=mm o ? 1

Who created the first DBMS ?

DBMS # fhg e & e @R gar 8 ? 1

In which format data is stored in DBMS ?

SR 3 IR H IHHR R Al 8 ° 1

What is information about data called ?

FTE G Bl B @ WA FARTY 2

Give two limitations of a Computerized Accounting System.

HFIFI AT & & AR qET 2
State two advantages of Customized Software.
BT AGiHT s § HH-9 Fh | =R fFn s anfey ? 2

What are the factors to be considered while source accounting software ?

208/(Set : C) P.T.O.
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21. ‘B’ sH & AR T8E & U it

Explain the various methods of preparing 'Form'.

22. Access Database # RUid %\‘fﬂ%‘f T B SR ERIEN

Explain the basis of designing report in Access Database.

23. Tediic 1 & ? IFeie Ssdiic & ST & aUi S

What is Spreadsheet ? Give applications of Electronic Spreadsheet.

HAYAT

OR

TAFIE Bsfe & FE H aUN B

Explain the functions of Electronic Spreadsheet.

208/(Set : C)
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o PV AT B T [ 5 FT-97 7 JRT 7T 16 79T §97 35(11+12+12) &
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and it contains 35(11+12+12) questions.

o Jo7-7H ¥ e & @ G RF T8 FS TET Tl § H OH FI-Yikaw F FEI-g8 9T
el
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o FYI FIT P TV VG @ FXT @ Yew, F97 F HHH ST [ord

Before beginning to answer a question, its Serial Number must be written.
o FUT-YitTHE & = H @l §,/9 7 881

Don’t leave blank page/pages in your answer-book.

o FT-YRTHE B SIRFT HF o de Tel A o SEvIRagar & g st frar Fav T
FIC]

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.
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(2) 208/(Set : D)
o OHTES ST Ul To FIT-FH YT GfFed @) Wl To F AR TG G T Z8 A 7T
[T I dieq Fo7l % FU YT [ FHX B T T T

Candidates must write their Roll No. on the question paper. Except Roll No. do not
write anything on question paper and don't make any mark on answers of objective
type questions.

o YT F%7 % I 37 @ g4 F FAkEd # A & Je7-97 [ T & 8, ThEr # ITT 59
T § Fig 4 @ &@hwre Tl A aam

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after

examination.

A 3T -
(i) T8 Fo7-97 T 9 7 e & -
T — of : STAHH] GEIIT TT AR @Il
T - § : A @7 9F [T [l E Ry

9T - T : FYNHT AT

(ii) y-w%w#?/ geterelf Ty T & G - F T T - T F @ FE T AT ET
/

(iii) T G97 BT BT 81 HOB 9T B oI IqD GHT FNT TT &

(iv)] Tglawediq 797 1 @ 6 % % @&l [4wcy gy der 797 12 @ 17 7% % F¢ @& 47
g o=l I 7 9 Red & @ XY i S99 597 # GT 39% Sl B AT
difora

(v) Fo7 F&qr 11 797 23 H 3<IR% §¢ ITa= &1

General Instructions :
(i) This question paper is divided into three Parts :
Part — A : Not-for-Profit Organizations & Partnership Accounts.
Part — B : Company Accounts & Analysis of Financial Statements.
Part - C : Computerized Accounting.
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(@)

(i)

(3) 208/(Set : D)
Part — A is compulsory. Candidates have to attempt any one part from
Part - B and Part - C of their choice.

All questions are to be attempted. Marks of each question are indicated

against it.

(iv) Choose the correct options of the multiple choice type questions 1 to 6 and
answer of questions 12 to 17 may be given in one or two words or
sentences or by filling up the blanks. Answer the remaining questions
according to their marks.

(v) Internal choice is available in Question Nos. 11 and 23.

| -
PART - A [ M. M. :30
(TR HeEATE U EEEt @)
(Not-for-Profit Organizations & Partnership Accounts)
1. TRl GERER & TP T80T H1 U SN PN q@ie e TB f6ar S & ? 1
(A) 99 AFER & TSN @w S
T wEEN B O @m
(oo =l & foRd & AW & oFu H)
(B) 99 WERER & Toff @ e
T wEEN B O @n
(oo =l & fowd & |y U oFu H)
(C) Tfd @ 2fde
o wRe @ O @ §
(ger g )
(D) T @ Bfde
e Eerd B O @
(3T ) & Tm™)
208/(Set : D) P.T.O.



(4) 208/(Set : D)

How Goodwill is recorded on the retirement of a partner ?
(A) Remaining partner's Capital A/c Dr.
To retiring Partner's Capital A/c.
(In gaining ratio with his share of goodwill)
(B) Remaining partner's Capital A/c Dr.
To retiring Partner's Capital A/c.
(In new ratio with his share of goodwill)
(C) Goodwill A/c Dr.
To all Partners Capital A/c.

(In old ratio)

(D) Goodwill A/c Dr.
To retiring Partners Capital A/c.

(With his share)

2. T, @ IR W AWM B 3:2: 1 P YUA | Sled §Y AHER § T B AR T
HA I, AH-HT ST &N e :

A) 1:1
B) 2:1
C) 2:3

(D) 3:2

208/(Set : D)



(5) 208/(Set : D)
'A', 'B' and 'C' are partners sharing profits and losses in the ratio of 3 : 2 : 1.
What will be gaining ratio on C's retirement ?

(A) 1:1
B) 2:1
C) 2:3
(D) 3:2

3. e # RER B I6s a9 & BH & G » 99 @ S R 1
(A) agal i |
(B) b3 @i H
(C) Uit @ &
(D) Sugw & & Hg T

Cash Balance shown in the Balance Sheet is shown on dissolution of firm in :
(A) Realization Account

(B) Cash Account

(C) Capital Account

(D) None of the above

4. IHA T 1
(A) AR @
(B) dr&iides @rdl
(C) eI TTeT

(D) dr&ifdes T§ AT Sl

208/(Set : D) P.T.O.



(6) 208/(Set : D)

Realization A/cis a :
(A) Nominal A/c
(B) Real A/c

(C) Personal A/c

(D) Real as well as Personal A/c

5. IR T WERR @AM H A THE A0 S, O 99 JRM WEER J e A 1
(A) T U |
(B) XN WH-HEASH YU A
(C) T AH-HEHSH I §
(D) it erger A

If new partner brings his share of goodwill in cash, it will be shared by old
partners in :

(A) Ratio of sacrifice

(B) Old profit sharing ratio
(C) New profit sharing ratio
(D) Capital ratio

6. T U EER & Y49 W : 1
(A) I EH H GHGE 8 ST o
(B) G HEETY H HEGT & S ©
(C) T AR T ®H SNF B FHIGA B ST 3
(D) ¥ A WERN SR 7 & GH & a9 Bl ©

208/(Set : D)



(7) 208/(Set : D)

On the admission of a new partner :

(A) Old firm is dissolved

(B) Old partnership is dissolved

(C) Both old partnership and firm are dissolved

(D) Neither partnership nor firm is dissolved

7. WEER GoE $l guReld § e 9 det e aae 2
(a) UERR & FT | o
(b) TTH-faTo U

In the absence of partnership deed, what are the rules relating to :
(a) Interest on partner's loan,

(b) Profit-sharing ratio ?

8. @, d I A MM H 3 :2: 1B UG H dfed T I T A wew A &
3,00,000 ¥ & ©F @I @l e 21 ‘A STaH T80 HIAT & AR A & SAGH TEl
F & A =l # geieT 9,00,000 ¥ W B mMow SR Ay J frofa e B e
Aoy § ey 3:2 & o # ate

JMEETH el T i 4

208/(Set : D) P.T.O.



(8) 208/(Set : D)
'A', 'B' and 'C' are partners sharing profit in the ratio of 3 : 2 : 1. Goodwill is
appearing in the books at a value of ¥ 3,00,000. 'B' retires, on the day of B's
retirement goodwill is valued at ¥ 9,00,000. 'A' and 'C' decided to share future
profits in the ratio of 3 : 2.

Pass the necessary Journal Entries.

9. i Fermetl & IR W a¥ 2021-22 & HE-&F @14 H HiS< 8N drd == &l T

T 4
3

() a9 I I g 70,000

(i) 31-3-2021 I &T =T : 17,000

(it) 31-3-2021 & dAFF TG I ;3,250

(iv) 31-3-2022 & #H o< a1 : 4,670

(v) 31-3-2022 % THEAT T : 11,250

From the following informations calculate the amount of subscriptions to be

credited to the Income and Expenditure Account for the year 2021-22 :

3
(i) Subscription received during the year : 70,000
(i) Subscription outstanding on 31-3-2021 : 17,000

208/(Set : D)



10.

11.

(9) 208/(Set : D)

(iii) Subscription received in advance on 31-3-2021 3,250
(iv) Subscription received in advance on 31-3-2022 4,670
(v) Subscription outstanding on 31-3-2022 11,250

T B &l oled fafEia $oft 1,50,000 % & T AT T@E & 10% 31 AR ST @
A9 af & w7 F MR W AT & T 36,000 I SE A 2, A ST @ B IOM1
it 4

The average capital employed of a firm is ¥ 1,50,000 and the normal rate of return
is 10%. If the value of goodwill is ¥ 36,000 on the basis of three years purchase

of super profits, find out the amount of average profits.

‘T, G AR W WEER § S R Yo ogud F AW died | 31-3-2022 FH I fHEal
Frfatad &

G D q it 3
CEEALECH] 6,900 | §% ¥ s 5,500
JTRRAT iy 7,500 | IT&R 5,000
gstt @ - WEE ge™ - 100 | 4,900

T 18,000 wh 8,000
&t 13,500 frasr (fafm) 11,500
@@ 9,000 | 40,500 | 9 T 25,000

54,900 54,900

208/(Set : D)
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(i) Ei® H 6% B HH B U
(i) IR H1 G FOT A 5% TF HT &A1 S

(ifi) 9% T FaT H 20% I qi& B AW

(10)
G T 1-4-2022 B FFH T A AR Al W) weHl g

(iv) ST &L @ & Y 770 3 & S@ge G S
(v) fafart @ ger &% 8,500 % X f&ar Sy

(vi) ¥ # B 10,800 T H & WY @ 9N T X W B @i § qHEING H} A S

S wfosg & @it @ 503 B oYU H are

(vii) T BH B FHA Ieit 28,000 X FERG H W M F T R W A 5: 3 F gua
w39 & O @1 3 @ TR W EEh R S o) & enfaer @

Abe T AR AT A SR ST
g @I, WEEr &3Sl @ R fes @ dur i)

The Balance Sheet of 'A', 'B' and 'C' who were sharing profits in proportions to

their capitals stood as follows as at 31st March, 2022 :

208/(Set : D)

Liabilities 4 Assets 4
Creditors Investment 6,900 | Cash at Bank 5,500
Fluctuation Fund 7,500 | Debtors 5,000
Capital Accounts : Less Provision - 100 4,900

'A' 18,000 Stock 8,000
'‘B'" 13,500 Investment 11,500
'C' 9,000 40,500 | Land and Building 25,000

54,900 54,900

208/(Set : D)




(11) 208/(Set : D)

'B' retired on 1-4-2022 and following was agreed upon :

(i) Stock be depreciated by 6%.

(ii)) Provision for doubtful debt be brought upto 5% on debtors.

(iii) Land and building be appreciated by 20%.

(iv) Provision of ¥ 770 be made in respect of outstanding legal charges.
(v) Investments are brought down to ¥ 8,500.

(vi) Goodwill of the firm is fixed as ¥ 10,800 and B's share be adjusted into the
accounts of 'A' and 'C' who are going to share future profits in 5 : 3.

(vii The entire capital of the firm as newly constituted be fixed at ¥ 28,000
between 'A' and 'C' in the proportion of 5 : 3 (actual cash to be brought in
or paid off, as the case may be).

Prepare Revaluation Account, Partners' Capital Accounts and Balance Sheet.

HAYAT

OR
UF EER & Y49 & T gedl 9o Al & §THedie [ S & 7 aeds Tl

%l HEFdl § JTHedich] @Il SET

Why are the assets and liabilities revalued at the admission of a partner ?

Prepare Revaluation Accounts with the help of imaginary figures.

T -9
PART - B [M.M.:30
(Tt @ e foi fasen @ fasqo)
(Company Accounts & Analysis of Financial Statements)
12. I8 & JHR & AT HH-9 & Pe TF B A B Tl © 7 1

What are the two types of shares which a Company can issue ?

208/(Set : D) P.T.O.



13.

14.

15.

16.

17.

18.

19.

20.

(12) 208/(Set : D)
o Sfd & 9 § FOE & R & Y Fn gfdfte a9 ST el © 7 1

What entry may be passed when debentures are issued as Collateral Security ?

RO & NET U ATH B b9 @A A sEaiandg har o 5 ? (RifeT wve 9) 1

Profit on redemption of debentures is transferred to which account ? (From
Sinking Fund)

foritg fqaxen & faeawer & fhell 0% Seed &l AU 1

List any one objective of analyzing the Financial Statements.

s fRafy feRor &1 @/ A B ? 1
What is the advantage of Comparative Balance Sheet ?
U FISRIsoT % i3 g T Ty 1

Give one limitation of Ratio Analysis.

TETEXT %1 T @ = SR Pl WL Hifo 2

Clarify Current Ratio with the help of example.

HE T 2,000, 12% FOEN H, S % U&% 100 T H B, FOEA 5% WfEET W fHar,
TR SNeF 10% DM @) BT 81 ol & Frfes & S gfaftedr i p)

A Company issued 2,000, 12% debentures of ¥ 100 each at a premium of 5%,
redeemable at a premium of 10%. Pass Journal Entries for the issue of

debentures.

‘G S T THAT S H Hls & AR W BT 2

Give two differences between 'Preference Share' and 'Equity Share'.

208/(Set : D)



(13) 208/(Set : D)
21. = gEamel |, EeE Bl § IS JaE e TUR S 4
e 2020 (3) | 2021() R 2020 (3) | 2021()
it 3,69,500 | 3,07,500 | W@« 50,000 40,000
o fort 14,500 12,500 | 3T 3T9a GHIrEl 3,00,000 | 2,50,000
EREARS 10,000 8,500
wh 4,000 6,500
LR 20,000 15,000
3,84,000 |3,20,000 3,84,000 | 3,20,000
(i) S TSI & o |

(i) T TROrdl B A A 9 R T MR A & foseg fear T R

From the following informations, prepare the Cash Flow Statement from operating

activities :

Liabilities 2020 (%) 2021() Assets 2020 (%) 2021(%)
Capital 3,69,500 | 3,07,500 | Building 50,000 40,000
Bills Payable 14,500 12,500 | Other Fixed Asset 3,00,000 | 2,50,000

Debtors 10,000 8,500
Stock 4,000 6,500
Cash 20,000 15,000
3,84,000 | 3,20,000 3,84,000 | 3,20,000

Additional informations :

(i) There was no drawings.

(ii)) There was no purchase or sale of Fixed Asset.

208/(Set : D) P.T.O.




(14) 208/(Set : D)
22. FAWEH HHs AR 2 T H JATHE AH-gM axeT FRY 4

Using imaginary figures prepare Comparative Income Statement for 2 years.

23. 'X fdfRe’ F 10 T 9 40,000 S H 2 T 5 A9 Sitmw ) R R e W 4 2
gfer ofer, ofeled WX 5 % ufa ofer (Miftrm @fed), g ® 3 2 9fd s

60,000 el & fAU Q-0 U< gU 48,000 HeAl & ACdeH § AUfs &7 A
Tefe fpar M AT STAEH-U SdiEd HX RU MU X I i dver & @)

Al AT |, S 1,500 S AT Y T & ST T AT Bl WA B G
Tt e ofR ot T J, B8 2,000 sier oyEfed fhT T & A= B OFOE TE R 39
FAT ST BT B AT feE T wH e R gu Y 8 % Wi SN Al & @ YUied & w9 A
&t ST @ 99 R My
T § A P 10

'X Ltd." issued 40,000 equity shares of ¥ 10 each at a premium of ¥ 2 per share
payable as under on application ¥ 4 per share; on allotment ¥ 5 per share
(including premium) and on call ¥ 3 per share.

Applications were received for 60,000 shares. Allotment was made pre-rata
to the applicant for 48,000 shares, the remaining applications being refused.
Money overpaid on application was utilized towards sum due on allotment.

Shri Manoj, to whom 1,500 shares were allotted, failed to pay allotment and
call money and Shri Rakesh to whom 2,000 shares were allotted failed to pay
call money. These shares were forfeited. All the forfeited shares were sold to Shri
Banerjee as fully paid up at ¥ 8 per share.

Show Journal Entries.

e
OR

URedY &R FOYE & EN d o9 F g9Ed & 7 U SaedV ad] Uaied @ germr
qui FHifT

What do you mean by Redemption of Debentures by Conversion ? Explain with
the help of journal entries taking an example.

208/(Set : D)
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L |
PART - C [M. M. : 30
(Fgelea i)

(Computerized Accounting)

12. ST Sifsided ® 91 JaRT S ST N W8 HI o 1
Give name of database objects to hold data.
13. QAQiH Ybol [ THR B TR & 7 1

What type of software is an accounting package ?

14. .............. MS-Access & T H3F Bl 1

.............. is one of the component of MS-Access.

15. cerrirnnnnn, T 399 & Aiees FEiT @ve 3 1

The fundamental building blocks of a database are ..............

16. .oooooen. Yot TN & deE &Y ol 1
.............. help us to see patterns.

17. YR &H STEH & 1Y FH IE F B [T oo fepeq A B 1
Base gives us .............. options to start working with database.

18. FHA AQ@HT JoTel & & Slfal Jarsul 2

Give two disadvantages of a Computerized Accounting System.

19. FYPA AGHT TR & & BRI Sl AT FHio| 2

State two types of Computerized Accounting System.
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20.

21.

22.

23.

(16) 208/(Set : D)
ST & URHIYG HY T 39% JhR Sqisy 2

Define data. Name its types.

DBMS % f=l g7 3893t &l auiq it 4

Describe any four objectives of DBMS.

IfeTRl T 8 ? 30 S & Il & U HieTg 4

What is Table ? Discuss the methods to prepare table.

Sediic A 7 ? Sesiic ¥ fie 39 o B 7 10

What is Spreadsheet ? How is Grid different from Spreadsheet ?

AYAT
OR

feTe &g ffr @ MS-Access ¥ q8a® & & [ =X &1 9ol Sl

Describe various steps in the design view method to create a query to MS-Access.
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